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Belowis an extract from the inventory control policy for OR18:

‘OR18 should be ordersd in quantitiss of 5,000 litres when the inventory balance falls below 5,000 litres'
(b) Complete the following sentences.

“The policy of ordering OR18 in quantiies of 5,000 lires has been complisd with.
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The policy of reordering OR18 when the inventory balance falls below 5,000 lires has been complied with
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CBT sample assessment model answers

Costs and Revenues (CSTR)
Sample assessment 2

Task 1 
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Task 2
[image: image2.png](a) The receipt into inventory of 18 tyres type TY13 at a cost of £152 per tyre. The purchase was made on

28 day creditterms.
’ it CostAccounting

Debit or Credit )
Debit | 2400 2734]
Credt | 4500 2734]

Cost Accounting

Debit or Credit =

Credt | 4000 800





Task 2 (continued)
[image: image3.png](€) Contract services drivers' pay for 480 hours at £11.20 per hour.

’ it CostAccounting
Debit or Credit )
Debit | 6100 5376
Credt | 5000 5378

Cost Accounting

Debit or Credit =

Credt | 5000 3600





Task 3
[image: image4.png]Drag and drop the correct entries into the table below to calculate the following FOUR costs:

(a) the maintenance labour cost of normal time working

(b) the maintenance labour cost premium of time and a half working
(c) the total maintenance labour cost of double time working

(d) the total maintenance labour cost.

Cost Entry options:

Calutaton ()
Calculation (b) £1248 £3744 £13236
Calutaton () 13440

Calculation (d) £15732 £1,044





Task 4
[image: image5.png]Use the following table to allocate or apportion the overheads using the most appropriate basis. Al totals must be entered.
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Task 5
[image: image6.png](i) Prime cost.

The prime cost per mile is: £ 6]

(i) Marginal cost per mile. Give your answer to two decimal places.

The marginal cost per mile is: £ 8]

(i) Full absorption cost per mile. Give your answer to two decimal places.

The full absorption cost per mile is: £ kXl

(b) For a manufacturing business if inventory levels are increasing, which of the following costing
principles gives the lowest reported profit?

Prime cost

Marginal cost

Full absorption cost






[image: image7.png](c) For a manufacturing business if inventory levels are increasing, which of the following costing
principles gives the highest reported profit?

Prime cost

Marginal cost

Full absorption cost





Task 6
[image: image8.png]Answer each of the following questions.

Whatis the sales revenue per mile ifthe contractis -
for 14,000 miles?

Whatis the variable cost per mile if the contractis 210
for 18,200 miles?

Whatis the fixed cost per mile ifthe contractis for 350
15,600 miles?

Whatis the total cost per mile ifthe contractis for 560
15,600 miles?

Whatis the profit per mile f the contractis for 590

18,200 miles?





Task 7
[image: image9.png]() On the basis of the forecasts for Quarter 1, calculate the following ANNUAL figures.

The forecast break even mileage for CS211s: 3000 miles.

The forecast break even revenue figure for CS22is: £ [ 104400

Arevised forecasthas now been produced. There is no change to either contribution per mile, but due to an
improved forecast the break even points and budgeted miles have both been revised.

Revised forecast csn o2
Sales revenue per mile (unchanged) | £17.00|  £18.00)
Gontroution per il (unchange 2800 21000
Breakeven point (miles o000 6000)
Forecast miles for oue os00| 7201

(b) Calculate the following figures based on the revised information given.

€521 margin of safety is 500] miles.

€522 margin of safety in revenue is: £ 21600





Task 7 (continued)
[image: image10.png](c) Based on the revised forecast, calculate the margin of safety for C$21 as a percentage to TWO
decimal places.

©S21 margin of safety. 18] %

CBC has atarget profitfor CS21 of £6,000 per quarter, and for CS22 of £7,000 per quarter. Fixed costs
remain unchanged fom part a). The company wishes to know what the ANNUAL mileage and sales will
have to be to reach the target profit

(d) Calculate the relevant figures in the table below.

CS21: Annual mileage required to reach target profit

©522: Annual sales required to reach target profit in £)





Task 8

[image: image11.png]Complete the table below (to TWO decimal places) to recommend how many miles of routes RT19, RT20
and RT21 CBC should operate during next month to maximise profits.
Note: Itis possible to operate only partof the full mileage of any of the three routes

Route. RT" RT20 ] Total
Contribution per mile (£) 18 16 14
Contribution per driver hour (£) 36 42| E:
Ranking 2| 1 3|
Total driver time available (hours) 3820
Driver time allocated (hours) 1200 1600 1020
Number of miles operated 2400 4200
Total contribution eamed (£) 43200 67200 145100)
Less: fixed costs (£) 84320
Profitloss made (€) 61780





Task 9
[image: image12.png](a) Complete the table below to show a flexed budget and the resulting variances against this budget for
route RT35 for last quarter. Show the actual variance amount for sales revenue and each cost, in the
column headed ‘Variance'. Adverse variances must be denoted using either a minus sign or brackets.
Enter 0 where any figure is zero.

Flexed

budget budget (=l

Numberofmiles | 40,000 45,000 45,000
B B B B

Sales revenue 104000[ 119500 125,300 5700
Less: costs
Fusl and other 39.200) 45080 48620) -3540
variable costs
Drivers costs 22,000 25300 24,600) 700
Fired overheads 22,480) 22480 21,950) 530
Profitrom
operations 20.320) 26740 30,130)





Task 9 (continued)
[image: image13.png](b) Referring to your answer for part (a), which one of the variances has had the greatest impact on profit
from operations?

Sales revenue

Fuel and other variable costs

Drivers costs

Fired overheads

{€) Which one of the following might cause an adverse variance for drivers’ costs?

‘Areduction in the number of drivers” hours

An increase in the hourly rate of pay for drivers

Anincrease in hours spent maintaining the buses

Areduction in the number of miles travelled





Task 10
[image: image14.png](a) Using the tables below, calculate the net present value (round the discounted cash flows to the.
nearest £000). You MUST enter minus signs where appropriate in order to obtain full marks.

Capital expenditure

Indirect Iabour cost savings

Operating cost savings. 54 75 B3

Netcash flows 112| 142| 158
PV factors

Discounted cash flows o8 109 107|

Netpresent value 04

(b) Calculate the payback period (round up to the nearest whole month).
You MUST enter minus signs where appropriate in order to obtain full marks.

Netcash flows 220 112| 142| 158

Cumulative net cash flows 220 108 34] 192|

‘The payback period is 1 |yearsand [ 10 |months





